Section-| Previous Year Problems

13 December 2022 05:41 PM

8'10f N, is expanded reversibly from 1 lit to 10 lit at 300 K. Calculate
AS, AH and AG (At. mass N = 14).
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Three moles of hydrogen are compressed isothermally and reversibly
from 60 dm’to 20 dm® and 8.22 KJ of work is done on it. Assuming
ideal behaviour, calculate the temperature of the gas.
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Calculate the work done during adiabatic reversible expansion of 0.02msl|
@ at 25°c expanded from 0.5 L to 1.0 L.

[Given : Cv m of Ar = 12.48] K~' mol™']
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Calculate AS,AG and AH when 20g of methane is mixed with 30g of

ethane considering both of them to be ideal at 30°c. comment on your
answer.
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